25/09/20

LI: To know more or less than a given number.

C: 10, 100 and 1

000

Number | !0 more than the | |00 more than the 000 more than
number number the number
273
4692
Number IO less than the 100 less than the | 1000 less than the
number number number
419
1027

Find the missing numbers

a) 492 is

b)

c) 10 less than 683 is

more than 392

is [00 more than 297

d) 523 is

less than

e) 100 less than 186 is

524

Complete the number pattern

4499 599

/799

There are 895 pupils in school A.

There are 100 fewer pupils in School B than there are in School A.
There are 100 more pupils in School C than there are in School A.

a. How many pupils are there in School B?

b. How many pupils are there in School C?




